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(logy; 9)(log;s 64) 0

log, J2
(a) 1 (b) 2 (c) 4 (d) 8

Q) What 1s the value of
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Q) What 1s the value of

p
(logy; 9)(log;g 64),

10g4\/§
(a) 1 (b) 2 (c) 4
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Ans: (c) - @

(d) 8
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Q) If (log, x)(logs 2x)(log,, v)= log, x*,then what is the
value of y?

(a) — (b) 9 (c) 18 (d) 27
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Q) If (log, x)(logs 2x)(log,, v)= log, x*,then what is the
value of y?

(2) g ®) 9 © 18 (d) 27

Ans: (b)
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Q) If 49893 4 glog2d — 108283 thoap x is

(a) 4 (b) 9
(¢c) 10 (d) None of these
i log, 3 A
fig o+ 1t e n
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A
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Q) If 49893 4 glog2d — 108283 thoap x is

(a) 4 (b) 9
(¢c) 10 (d) None of these

Ans: (c)
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Q) What is the value of 21logg 2 — logs 9,

3
(@ O (b) 1 (c) 2 (d) 1/3
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Q) What is the value of 2logg 2 — logs 9,

3
(a) 0 M) 1 (c) 2 (d) 1/ 3

Ans: (a)
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Q)Iflog;, (x + 1) + log;y 5 = 3,then what 1s the value of x?
(a) 199 (b) 200

(c) 299 (d) 300
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Q)Iflog;, (x + 1) + log;y 5 = 3,then what 1s the value of x?

(a) 199 (b) 200
(c) 299 (d) 300

Ans: (a)



CDS 2 2024 - REVISION - MATHS - CLASS 14

Q) Iflog, (a ' b) . % (log, a + log, b), then

(a) a=> (b)a:

W | SN | o

(¢c) 2a=0 (d) a=
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Q) If log, (a ; b) _ % (log, a + log, b), then

(a) a=> (b)a:

W | ovbo | o

(¢c) 2a=0 (d) a=

Ans: (a)
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Q) The value of e(loglo tan 1° + logqq tan 2° + ... + logy tan 89°) is

equal to
(a) O (b) 1 Lo a +loo b= log (28
© o @ % OQNO( + M qu )

Tan)’° %hz“,,,faano((’»f’f‘7'°),,_ @0_7_10

\)

= Janyy' = |

e —
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=
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Q) The value of e(loglo tan 1° + logqq tan 2° + ... + logy tan 89°) is
equal to

(a) O (b)
(c) e (d)

|k

Ans: (b)
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QIf x< 0, y< 0,then log (xy) 1s equal to

(a) logx+ logy (b) log (- x)+ log(— y)
(c) —logx—log vy (d) None of these
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QIf x< 0, y< 0,then log (xy) 1s equal to

(a) logx+ logy (b) log (- x)+ log(— y)
(c) —logx—log vy (d) None of these

Ans: (b)
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Q) What is log(a ++a®+1)+ log( L ] equals

a+1/a2+1

to?
(a) 1 (b) ({
(c) 2 (d) 5
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Q) What is log(a ++a®+1)+ log( L ] equals

a+1/a2+1

to?
(a) 1 (b) 2
(c) 2 (d) 5

Ans: (b)
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Q) If log;, x logy k= 3, then what 1s the value of x?

(a) ¥ b) 5
(c) 243 d) 125
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Q) If log;, x logy k= 3, then what 1s the value of x?

(a) ¥ b) 5
(c) 243 d) 125

Ans: (d)
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Q) For what value(s) of x 1s
log,o (999 + /2% — 3x + 3) = 3?

(a) O (b) Only 1 3
(c) Only 2 (d) 1,2

=) 79%&7—379—;/03

ﬁzzguz = Jopo— 9119

2’2’32’ T3 - /

/9(//) [1-/,,?) )
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Q)For what value(s) of x 1s
log,o (999 + /2% — 3x + 3) = 32

(a) 0 (b) Only 1
(c) Only 2 d) 1,2

Ans: (d)
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logx log36 log 64

Q) If , what are the values of x

logh - log 6 - log vy
and y, respectively?
(a) 8, 25 (b) 25,8 (c) 8,8 (d) 25, 25



CDS 2 2024 - REVISION - MATHS - CLASS 14

logx log36 log 64

Q) If , what are the values of x

logh - log 6 - log vy
and y, respectively?
(a) 8, 25 (b) 25,8 (c) 8,8 (d) 25, 25

Ans: (b)
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Q) How many number of digits are there in 2989 s oA
(Given that log;; 2= 0.30103) L —Cﬂo—x & fz( ’(/f 4
@) 98 (b) 99 ol =2
(c) 30 (d) 29 >

7= 4 9¢ /00 q At = 8
oo 3 3tl = Yy
Z%x - LOJIO (o? 757 0.30/ 0 —
K76
g ?g /) ZO/ ("?) 02‘1067(9 n0. SJ c{/ﬁ}%j’ - ﬂD?QJ’M/ (&fmx)
= 98 x 0300 _ 470700 9][ g +/
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Q) How many number of digits are there in 27%?
(Given that log;, 2= 0.30103)
(a) 98 (b) 99
(c) 30 (d) 29

Ans: (c)
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Q) What is the number of digits in the numeral form of

879
(a) 51 (b) 16 ©) 15 (d) 14
L= 8 | %
%x = Cﬁ,‘,é‘
3
= % Zodﬂlo q

= 5/ Aﬁ,oo? = 5/ 0-30)p

—
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Q) What is the number of digits in the numeral form of
8" ?
(a) 51 (b) 16 (c) 15 (d) 14

Ans: (b)
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Q What 1s the least 1integral value of
2log;y x — log, (0.01)?

(@ 0 (b) 2 (c) 4 (d) 3
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Q What 1s the least 1integral value of

2log;y x — log, (0.01)?
(a) 0 (b) 2 (c) 4 (d) 3

Ans: (c)
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EEEEE

Q)A dice is thrown. The probability that a
number greater than 4 may appear at the dice is

/g 7/owo urable oa‘i‘aow

0 Totu/ % o ufeomes




CDS 2 2024 - REVISION - MATHS - CLASS 14

Q)A dice is thrown. The probability that a
number greater than 4 may appear at the dice is

1 1
- b) —
(.a)3 ()4
1 1
- d) —
(c)2 ()5

Ans: (a)
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Q)Three dice are thrown. What 1s the probability that
the same number will appear on each of them?

1 1 |

@ - ®) (1,1,1)

() i (d) % (9?,2, 0?) no . Bg, faw)umL/@
(3/3/3) Ou Teo Mt :@

Tofal mo. abl oultomu = 6 X6 Xx{ ,

:O?/é (é/é/é)/

/DTé. - ‘__é__ - i
/b 36

——
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Q)Three dice are thrown. What 1s the probability that
the same number will appear on each of them?

1 1
(a) E (b) 1—8

1 1
(c) ﬂ (d) 3—6

Ans: (d)
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Q) Three coins are tossed together, then the probability
of getting atleast one head 1s

1 3
(a) 15 (b) %
(c) g (d) g

P (sflast 1 #) = Pl head) + P(2head) + P(s hrad)
= ] - P(?)B Aeaﬂpﬁ)

_—

[ — _L
g

T 77T

A————._——)
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Q) Three coins are tossed together, then the probability
of getting atleast one head 1s

1 3
(a) 15 (b) %
(c) g (d) g

Ans: (d)
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Q)One card is drawn randomly from a pack of 52 cards,
then the probability that 1t 1s a king or spade, 1s

(a) 1/26 (b) 3/26
(c) 4/13 (d) 3/13

King sf gude,
r———

oMor E/ffrg o gfac{u j but et
boh,

PR——

aount /ov)
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Q)One card is drawn randomly from a pack of 52 cards,
then the probability that 1t 1s a king or spade, 1s

(a) 1/26 (b) 3/26
(c) 4/13 (d) 3/13

Ans: (c)
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Q)From a pack of 52 cards two cards are drawn in
succession one by one without replacement. The
probability that both are aces 1s

(a) 2/13 (b) 1/51
(c) 17221 (d) 2/21
SEard = — ol
9 ard - 3 : /O*méaé/[zf&ﬁ % ) é_ X ’}%
5 -
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Q)From a pack of 52 cards two cards are drawn in
succession one by one without replacement. The
probability that both are aces 1s

(a) 2/13 (b) 1/51
() 1/221 (d) 2/21

Ans: (c)
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Q) From a pack of 52 cards, two cards are drawn, the first being
replaced before the second 1s drawn. What 1s the probability

4 13
1 4
(©) P> (d) 5

?

| ang

18

(x) — mu/ﬂ/'oldz
() — adf
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Q) From a pack of 52 cards, two cards are drawn, the first being
replaced before the second 1s drawn. What 1s the probability
that the first 1s a diamond and the second 1s a king ?

1 4
(@) n (b) =

1 4
©) P> (d) 5

Ans: (c)
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Q) A coin 1s tossed 4 times. The probability that atleast
one head turns up, 1s
(a) 1/16 (b) 2/16
(c) 14/16 (d) 15/16
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Q) A coin 1s tossed 4 times. The probability that atleast
one head turns up, 1s
(a) 1/16 (b) 2/16
(c) 14/16 (d) 15/16

Ans: (d)
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EXAMS

Q)A husband and wife appear in an interview for two
vacancies in the same post. The probability of

i o1 . ) .
husband’s selection is E and that of wife’s selection is

%. What 1s the probability that only one of them will

be selected?

1 2
(a) Sg (b) §
(©) g (d) g
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EXAMS

Q)A husband and wife appear in an interview for two
vacancies in the same post. The probability of

) o1 ) i .
husband’s selection is g and that of wife’s selection is

%. What 1s the probability that only one of them will

be selected?

1 2
(a) Sg (b) §
(©) g (d) g

Ans: (b)
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Q) A bag contains 5 black balls, 4 white balls and 3 red
balls. If a ball is selected random wise the probability
that 1t 1s a black or red ball, 1s
(a) 1/3 (b) 1/4
(c) 5/12 d) 2/3
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Q) A bag contains 5 black balls, 4 white balls and 3 red
balls. If a ball is selected random wise the probability
that 1t 1s a black or red ball, 1s
(a) 1/3 (b) 1/4
(c) 5/12 d) 2/3

Ans: (d)
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Q) The probability of having a king and a queen, when
the two cards are drawn at random from a pack of 52

cards 1s

16 8
a) —— 9
()623 (b) 6%3
c) —— )
(c) ()663

663



CDS 2 2024 - REVISION - MATHS - CLASS 14

Q) The probability of having a king and a queen, when
the two cards are drawn at random from a pack of 52

cards 1s
16 8
a) —— 9
(a) 623 (b) 6%3
c) —— )
© 663 (@ 663

Ans: (b)
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Q) Two balls are selected from a box containing 2 blue
and 7 red balls, respectively. What 1s the probability

that atleast one ball is blue?

2 7 5 7
a) — — c) — d) —
(a) 5 (b) 5 (c) > (d) >
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Q) Two balls are selected from a box containing 2 blue
and 7 red balls, respectively. What 1s the probability
that atleast one ball is blue?

2 1 5 7
(@) 5 (b) 5 () E (d) E

Ans: (a)



CDS 2 2024 - REVISION - MATHS - CLASS 14

Q) The chance of winning the race of the horse A is % and

that of horse B is % What is the probability that the

race will be won by A or B?
1
a -
(a) 20 (b)

1
11 31
©) % (d) 1—5
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Q) The chance of winning the race of the horse A is % and

that of horse B is % What is the probability that the

race will be won by A or B?
1
a -
(a) 20 (b)

1
11 31
©) % (d) 1—5

Ans: (c)
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EXAMS

Q) There 1s a point i1nside a circle. What 1s the
probability that this point 1s close to the
circumference than to the centre?

3 i 1 1
(a) Z (b) 5 () Z (d) g
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EXAMS

Q) There 1s a point i1nside a circle. What 1s the
probability that this point 1s close to the
circumference than to the centre?

3 i 1 1
(a) Z (b) 5 () Z (d) g

Ans: (a)
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Q)A problem in Mathematics is given to three students

A, B and C and their respective probability of solving
the problem 1s 1/2, 1/3 and 1/4, respectively.
Probability that the problem 1is solved, 1s

(a) 3/4 (b) 1/2
(¢} 2/3 (d) 1/3
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Q)A problem in Mathematics is given to three students
A, B and C and their respective probability of solving
the problem 1s 1/2, 1/3 and 1/4, respectively.
Probability that the problem 1is solved, 1s
(a) 3/4 (b) 1/2
(c) 2/3 (d) 1/3

Ans: (a)
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Q) If A and B are any two events such that P(A U B) = %,

P(A N B) :% and P(A)= g, where A stands for the
complementary event of A, what 1s the value of P(B)?

1 2 1 2
(a) § (b) g (c) 5 (d) 5

EXAMS
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Q) If A and B are any two events such that P(A U B) = %,

P(A N B) :% and P(A)= %’ where A stands for the
complementary event of A, what 1s the value of P(B)?

1 2 1 2
(a) g (b) g (c) 5 (d) 5

Ans: (b)

EXAMS
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Q)What is the probability of getting a sum of 7 with two dice?

1 1
@ % ® 3
! E

© 15 @ 5
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Q)What is the probability of getting a sum of 7 with two dice?

1 1
@ % ® 3

1 5
© 75 Gy

Ans: (a)
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Q) In arelayrace, there are six teams 4, B, C, D, E and F. What
1s the probability that 4, B, C finish first, second, third
respectively ?

| | | |
(a) 5 (b) B © 0 (d) 120
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EXAMS

Q) In arelayrace, there are six teams 4, B, C, D, E and F. What
1s the probability that 4, B, C finish first, second, third
respectively ?

| | | |
(a) 5 (b) B © 0 (d) 120

Ans: (d)
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Q) A box contains 3 white and 2 black balls. Two balls are drawn
at random one after the other. If the balls are not replaced,
what 1is the probability that both the balls are black ?

(@ 2/5 (b) 1/5
(¢c) 1/10 (d) None of these
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Q) A box contains 3 white and 2 black balls. Two balls are drawn
at random one after the other. If the balls are not replaced,
what 1is the probability that both the balls are black ?

(@ 2/5 (b) 1/5
(¢c) 1/10 (d) None of these

Ans: (b)
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@

| |
Q) Two men hit at a target with probabilities Eand 3

respectively. What 1s the probability that exactly one of

them hits the target?
1 1
@ 3 ®) 3
1 o2
© @ 3
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@

| |
Q) Two men hit at a target with probabilities Eand 3

respectively. What 1s the probability that exactly one of

them hits the target?
1 1
@ 3 ®) 3
1 o2
© @ 3

Ans: (a)
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Q)There are 4 letters and 4 directed envelopes. These
4 letters are randomly inserted into the 4 envelopes.
What is the probability that the letters are inserted
into the corresponding envelopes?

11 23
(a) ﬁ (b) ﬂ

1
— d) N fth
(c) 24 (d) None of these
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Q)There are 4 letters and 4 directed envelopes. These
4 letters are randomly inserted into the 4 envelopes.
What is the probability that the letters are inserted
into the corresponding envelopes?

11 23
(a) ﬁ (b) ﬂ

1
— d) N fth
(c) 24 (d) None of these

Ans: (c)



CDS 2 2024 - REVISION - MATHS - CLASS 14

Q) A committee of two persons 1s contituted from two men
and two women. What is the probability that the commiuttee
will have only women?

1

() (b)

1
3
2
(©) 3

6
1
2
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Q) A committee of two persons 1s contituted from two men
and two women. What is the probability that the commiuttee
will have only women?

1

() (b)

1
3
2
(©) 3

6
1
2

Ans: (a)
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Q) Which one of the following 1s a null set ?

(@) {0}« (b) ) «

(© 1« (d) {xh*+1=0,xeR}

f-11
A:?z/x%/:o/ Xéﬁj
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Q) Which one of the following 1s a null set ?

(@) {0; (b) {1t}
(©) )} (d) {xh>+1=0,xeR}

Ans: (d)
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Qlt 4= {1, 2,5, 6} and B = {1, 2, 3}, then what 1s
(AxB)(BxA) equal to?

Ei) (1, 1), 2, 1),(6,1),3,2);

) AL D, (1,2),(2, 1), (2,2)} XA -
© 1,1, ,2); b1h = {
(d) (1, 1),(1,2),(2,5),(2,0);

g = {0, (2,09 (90w
A1) 4,2, (33) = -{ (1) (3,1) ,3) (o?/@q{
(@/7 (5,8),(5,3) |
(6,1_’,)r {G_f_:?)f _{ffg)f
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Qlt 4= {1, 2,5, 6} and B = {1, 2, 3}, then what 1s
(AxB)(BxA) equal to?

@ 1, 1),2,1),0,1),3,2))
(b) {(1,1),(1,2),(2, 1), (2,2);
© 1,1, ,2);

(d) (1, 1),(1,2),(2,5),(2,0);

Ans: (b)
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Q) The set {2, 4,16, 256, ...} can berepresented as which one
of the following?

(a) <FXEN|X=22H,HEN} X Zg'?/ ‘_{9 /G, o?% ,-,}
F n ')‘)

(b) {xeN|x=22 ,n=q,1,z,...} 7

= | | ,

©) {xeN|x=2@,n=Q_,1,2,...} !

(d) {xeN|x=22“,n=0,1,2,...}aﬁ
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Q) Theset {2,4,16, 256, ...} can berepresented as which one
of the following?

(a) <XEN|X=22H, HEN}

(b) <?’<151\T|‘é‘i=22n,, n=0,1,2,---}

© {xeN|x=24“,n=o,1,2,...}

(d) {xeN|x=22“,n=o,1,2,...}

Ans: (b)
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DIRECTIONS : Read the following passage and
give answer.

The students of a class are offered three languages (Hindi, English
and French). 15 students learn all the three languages whereas 28

students do not learn any language. The number of students
learning Hind1 and English but not French is twice the number of
students learning Hindi and French but not English. The number
of students learning English and French but not Hindi 1s thrice
the number of students learning Hindi and French but not English.

23 students learn only Hindi and 17 students learn only English.

The total number of students learning French 1s 46 and the total
number of students learning only French 1s 11.

q - 2) e:/(f}
C =3k
d - 43 f
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EEEEE

Q) How many students learn precisely two languages? @
@) 55 (b) 40 )
(¢) 30 (d) 13

Qtbte = 20 IS =

—

~

bt I5+)) = 44

67LQ‘: 46 ~ 44 = Jf

btce = qo 0=4x5 =1
b+ 3L = C=3X5=[§
b =%y ‘ -
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Q) How many students learn precisely two languages?

(@) 55 (b) 40
(© 30 (d) 13

Ans: (c)
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Q) How many students learn at least two languages?

(@ 15 (b) 30
(¢ 45 (d) 55

Tia @Uamam # QZMOMVQA
(atbte) + 15
30 +15 - Te

e ————
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Q) How many students learn at least two languages?

@ 15 (b) 30
©) 45 d 55

Ans: (c)
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Q) What 1s the total strength of the class?
(a) 124 (b) 100
(¢) 9 (d) 66
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Q) What 1s the total strength of the class?
(a) 124 (b) 100
(¢) 9 (d) 66

Ans: (a)
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Q) How many students learn English and French?

(@ 30 (b) 43
(c) 45 d) 73
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Q) How many students learn English and French?

(a) 30 (b) 43
(© 45 (d) 73

Ans: (a)
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Q) How many students learn at least one languages?

(@) 45 (b) 35l
(¢) 96 (d) None of these
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Q) How many students learn at least one languages?

(@) 45 (b) 35l
(¢) 96 (d) None of these

Ans: (c)
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Q)It A= {a, b, ¢}, then what 1s the number of proper subsets of
A? T

@ > (b) 6 3(‘J) / (d) 8
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Q)It A= {a, b, ¢}, then what 1s the number of proper subsets of
A?

@ > (b) 6 © 7 (d) 8

Ans: (c)
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Q)Let A= {x : x 1S a square of a natural number and x 1s less than

100} and B 1s a set of even natural numbers. What 1s the
ardiality of AmB?

(@) 4 (b) 5
(¢c) 9 (d) None of the above /
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EEEEE

Q)Let A= {x : x 1S a square of a natural number and x 1s less than
100} and B 1s a set of even natural numbers. What 1s the

cardiality of A~ B?
(@) 4 (b) 5
(¢c) 9 (d) None of the above

Ans: (a)
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Q)In a group of 500 students, there are 475 students who can
speak Hindi and 200 can speak Bengali. What is the number
of students who can speak Hindi only ?

@) 275 (b) 300 n(#) - n(Hoe)
© 325 (d) 350 AL 90 = o0
n(HvB) - n (1) + »(8) n(me)

500 = 475+ oy — X
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Q)In a group of 500 students, there are 475 students who can
speak Hindi and 200 can speak Bengali. What 1s the number
of students who can speak Hind1 only ?

(@) 275 (b) 300
© 325 (d) 350

Ans: (b)
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10AM TO 12PM 1PMTO 3PM
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12PM TO 1PM 3PMTO 4PM

6S - SHIVANGI MAAM GS - SHIVANGI MA'AM
1PMTO 2PM 4PM TO 5PM

6K - RUBY MA'AM 6K - DIVYANSHU SIR
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